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COLLEGE ENGLISH MODEL
TESTS (Band 6)
AERBAAMLNES H ST

Part I Listening Comprehension

Section A

Directions; In this section you will hear 10 short conversa-
tions. At the end of each conversation, a question will
be asked about what was said. Both the conversation
and the question will be spoken only once. After each
question there will be a pause. During the pause, you
must read the four suggested answers marked (A),
(B), (C) and (D), and decide which is the best an-
swer. Then mark the corresponding letter on the An-

swer Sheet with a single line through the centre.

1. ()\/5 On Wednesday.
(B) On Thursday.
(C) On Friday.



3.

Ds.

fi 6.

(D) On Tuesday.

. (A) Half of it.

(B) A third of it,
8CY Two thirds of it.
(D) A quarter of it.

2
N[) Go to the doctor’s office.

(B) Go to the post office.
(C) Go to the grocery store.
(D) Go to the cleaner’s.

(A) A restaurant.
(B) A hotel.

{Cb A hospital.
(D) A school.

(A) He should not talk to Bill any more.
He should tell Bill not to think negatively.
(C) He should take Bill’s remarks seriously.
(D) He should pay little attention to what Bill says.

(A) He must see the doctor.
(B> He must give a speech.

(C) He has a meeting to attend.
(Y He can take the day off.

« 2



7. (A) In a car.
KB} On an airplane.
(C> On a coach.
(D) On a train.

8. (A) She will bathe the baby.
(B) She will walk the baby.
(C) She will feed the baby.
\(_Ij) She will take care of the baby.

9. (A) At two o'clock.
(B) At four o’clock.

K;j At six o’clock.

(D) At eight o’clock.

10. (A) He got mad with his boss.
(B) He always got to work late.
(C) He was frequently sick and absent from work.

TQ’{ He prepared a financial report incorrectly.

Section B :

/ 'P;@W(gg(

Directions : In this section, you will hear 3 short passages.
At the end of each passage, you will hear some ques-
tions..- Both the passage and the questions will be spo-
ken only once. After you hear a question, you must
choose the best answer from the four choices marked

¢ 3.



(A), (B), (C) and (D). Then mark the corresponding

letter on the Answer Sheet with a single line through

the centre.

Passage One

Questions 11—13 are based on the passage you have just
heard.

P‘ 11. (A) They often take place in her major industries.
(B) British trade unions are more powerful.
\CQ‘)/There are more trade union members in Britain.
(D) The British lose more working days through strikes

every year.

4’r’7 12. &A{) Such strikes are against the British law.
’ (B) Such strikes are unpredictable.
(C) Such strikes are more difficult to control.

(D) Such strikes are very common these days.

13. (A) Trade unions in Britain are becoming more popu-
lar.

(B) Most strikes in Britain are against the British law.

(C) Unofficial strikes in Britain are easier to deal with
ow

now.
GQ} Employer-worker relations in Britain have become

tenser.



Passage Two

Questions 14—16 are based on the passage you have just
heard.

14. (A) The victory over one’s fellow runners.
(B) The victory over former winners.
YC)'The victory of will-power over fatigue.
(D) The victory of one’s physical strength.

15. (A) The runner who runs to keep fit.
(B) The runner who breaks the record.
(C) The runner who does not break the rule.

he runner who covers the whole distance.

16. (A) He won the first prize.
@'He died because of fatigue.
(C) He fell behind the other runners.
(D) He gave up because he was tired.

Passage Three

Questions 17—20 are based on the passage you have just
heard.

17. &) 17,000.
(B) 1,700.

Y24
(D) 9,000, Y3
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V‘ 19.

(A) It’s located in a college town.
(B) It’s composed of a group of old buildings.
(C) Tts classrooms are beautifully designed.

[ts library is often crowded with students.

(A) Teachers are well paid at Deep Springs.
Students are mainly from New York State.

(C) The length of schooling is two years.

(Il) Teachers needn’t pay for their rent and meals.

(VTake a walk in the desert.
(B) Go to a cinema.
(C) Watch TV programmes.
(D) Attend a party.

\

Part I Reading Comprehension

Directions : There are 4 reading passages in this part. Each

passage is followed by some questions or unfinished
statements. For each of the questions in the first 3 pas-
sages there are four choices marked (A), (B), (C) and
(D). You should decide on the best choice and mark
the corresponding letter on the Answer Sheet with a
single line through the centre for the questions in the
last passage, you have to answer them in the fewest

possible words. Then translate the underlined parts in-

LN K]



to Chinese.
PAAYY
Questions 1—5 are based on the Following passage .

The eldest living things en Earth are trees. Seme ef
Califernia’s sequeias have fer feur theusand years leeked
dewn en the charms in the landscape and the cemings and
geings of humans They spreuted frem tiny seeds abeut the
time the Egyptiam mds were being built. Teday these
giant patriarchs seem as remete and 1nacce551ble as the recks
and meuntain cliffs en whxch they grow, like cathedral

celumns helding up the sky. It is hard te imagine them play—

ing any part in the lives of mere humans er being in any way

affected by the creatures that pass at their feet.

1. What is the main idea of this passage?
(A) Trees grow to great heights.
(B) Trees have been important to people throughout his-
tory.
(C) Trees make humans seem superior.

(D) Trees that grow in California are very old.

2. The phrase “giant patriarchs” could best be replaced by

(A) tiny seeds
(B) important leaders

(C) towering trees



(D) Egyptian pyramids

3. In the fourth sentence, the word “they” refers to
&« (A9 trees

¢B) grandeur and mystery -

(C) seasons

(D3 people’s spiritual horizons

4. The author implies that compared with sequoias, other
trees have - . “
(A) been in existence longer
(B) adapted more readily to their environments
(C) been affected more by animals

(D) had a closer relationship with people

5. With what does the author compare trees ?
(A) parts of a cliff
(B) parts of the Egyptian pyramids
(C) parts of California
(D) parts of a building

Questions 6—10 are based on the following passage:

A decade ago, Gao Seui Haang had one link with the
outside world, a track that ran across the rice fields. Down
this track went the village’s one notable export commodity :
humans. By the mid-19th century, villagers from Gao Seui

* 8



Haang had reached San Francisco. Most villagers to this day
have relations in America or Canada ~— or at least in Hong
Kong.

This part ef the Pearl River Delta, the Three Districts

regien, made fameus by the scale of its emigratien, had fer

centuries preduced mere peeple than the land was able te
bear. Until a paved read came in 1986, the 1,700—edd vil-

lagers whe remained in Gae Seui Haang were still getting

grain handeuts frem the previncial autherities.

New the village experts much mere than peeple. A
dezen facteries have sprounted in the. paddy fields, their
walls all identically ttled in blue and white. Fields are still
being cencreted ever for new precessing plants. As fereign,
mainly Japahese , investment psurs inte the village, all man-
ner of electrenic geeds peur eut. Inspect yeur hearing aid,
or yeur karaske micrephene: it may have ceme sut of ene of
Gae Seui Haang’s three plants preducing speakers and mi-
crephenes. Dewn the paved read, trucks ge rearing eff te
the pert, breadcasting the village’s geed fertune.

In most respects, Gao Seui Haang's story is typical of
hundreds of townships, transformed by the industrial revo-
lution that began in the Pearl River Delta around 1980. Like
the others, this village thrives by marrying cheap foreign
capital with cheap Chmese labour. But there is a tw1st in
Gao Seui Haang. The villagers do not do the work. Instead,
18,000 migrant labourers from dirt-poor parts of China far-

Qe



